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QUESTION 1

Click the Exhibit button. 

Referring to the exhibit, which router becomes the OSPF DR when all routers are powered on at the same time? 

A. R3 

B. R4 

C. R1 

D. R2 

Correct Answer: D 

 

QUESTION 2

Click the Exhibit button. 
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A number of reports from end users indicate that internal and external communications are intermittent and not reliable.
You verified the status of the switch ports and have determined that they are up and operational. You also noticed a
very high level of link bandwidth utilization on those same ports. The current topology of the affected environment is
shown in the exhibit. 

What would be the cause of the reported issues? 

A. A misconfigured interior gateway protocol (IGP). 

B. A lack of a loop-prevention mechanism or protocol. 

C. A lack of port-based ACLs filtering the traffic flows. 

D. A malformed route-based ACL improperly filtering traffic flows. 

Correct Answer: B 

 

QUESTION 3

Which two elements are used to create the STP bridge ID? (Choose two.) 

A. the root port number 

B. the bridge priority value 

C. the system MAC address 

D. the port cost 

Correct Answer: BC 
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QUESTION 4

What are two characteristics of OSPF ABRs? (Choose two.) 

A. ABRs transmit routing information between the backbone and other areas. 

B. ABRs cannot be part of the backbone and another area at the same time. 

C. ABRs inject routing information from outside the OSPF domain. 

D. ABRs link two OSPF areas. 

Correct Answer: AD 

 

QUESTION 5

Click the Exhibit button. 

Referring to the output shown in the exhibit, which two statements are true? 

A. The route is active 

B. The route is not active 

C. The route is a generate route 

D. The route is an aggregate route 

Correct Answer: AC 
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